Mini SPAG test 8
1.  Circle all the adjectives in the sentence below.
The   old   man   walked   to   the   busy   shop.                                                       1 mark
2. Which sentence uses commas correctly?
As the shops, were busy there weren’t any, spaces left in the car park.
As the shops were busy, there weren’t any spaces left in the car park.
As the shops were busy there weren’t any spaces, left in the car park.
As the shops were busy, there weren’t, any spaces left in the car park.               1 mark
3. Circle the connective in the sentence below.
Until   it   was   dark,   we   couldn’t   light    the    fireworks.                               1 mark
4. Write a question beginning with the words below.
Could you _______________________________________________
5. Write the correct singular or plural form in each space below.
E.G.  One table, three tables
[bookmark: _GoBack]One mouse, three ___________________
One dish, many _____________
One pint of milk, many ____________of milk.
One baby, four ____________________.                                                         2 marks 
6. Insert three commas in the correct places in the sentence below.
Mum   brought   some  crisps    a   bag   of    apples   some   cans   of   coke   and  cakes.
1 mark
Total marks (out of 6) =         .
